Polynomials

Multiplication with Addition and subtraction

1. 2(x+3)=2x+6

3. 73x+5)=21x+35
7.6(3x-1)=18x-6
10.
13.
16.
19.
22.
24.
26.
28.

30.
31.
32.
33.
34.
35.
36.
37.

38.

2.6(x+1)=6x+6 3.4(x+5)=4x+20
4. 39x+7)=27x+21 6. 5(4x+7)=20x+35

8.8(5x—3)=40x-24 9.4(12x—-8)=48x-32

4-Tx+3)=-28x+12 11. 9(-4x+7)=-36x+63 12.12(-5x+3)=—-60x+ 36

-1(5x+2)=-5x-2 14. —(3x+1)=-3x-1 15. —(7x+2)=-Tx-2

-2(5x+6)=-10x-12 17. 32x+5)=-6x—-15 18. —7(4x+6)=-28x—-42

—4(5x-8)=-20x+32 20. -82x-3)=-16x+18 21. 4(7x-2)=-28x+8

—6(—4x—-3)=24x+18 23.
=5(-3x-7)=15x+35 25.
3(5x° —=7x+3)=15x"-21x+9 27.
4(5x° +4x7 —7x)=20x" +16x* —28x 29.

—5(—4x’ +8x—2)=20x - 40x + 10

-9(2x-5)=18x+45
2(3x* —=5x+3)=6x"—10x+6
6(=2x>+5x—2)=—-12x>+30x—12

2(5x* +3x=7)=-10x"—6x+14

2x+3)+4(x+6)=2x+6+4x+24=6x+ 30

52x+3)+4(x+2)=10x+15+4x+8=14x+23

82x+3)+5(x+4)=16x+24+5x+20=21x+44

4(3x—=2)+52x-3)=12x—-8+10x-15=22x-23

72x—=6)+3(3x—-5)=14x-42+9x—-15=23x-57

36x—1)+2(8x—3)=18x—3+16x—6=34x-9

4(3x+5)-6(2x+3)=12x+20-12x-18 =

2

5Bx+1)—42x+3)=15x+5-8x—-12=Tx-7
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8(2x+3)-5B3x+4)=16x+24-15x-20=x+4
—42x+1D)+3@4x+1)=-8x—-4+12x+3=4x-1
—6(2x+5)+3(7Tx+2)=—12x-30+21x+6=9x—-24
—4Bx+5)+6(x+5)=—-12x-20+6x+30=—-6x+10
20Bx+1)-34x+1)=—6x—-2-12x-3=—-18x-5
—4(3x+5)-3(6x+2)=-12x-20-18x—-6=-30x—-26
—T12x+4)-34x+1)=-14x-28-12x—-3=-26x—-31
—6(5x—-3)-72x—-4)=-30x+18—-14x+28 =—44x+ 46
—5Q2x—-7)=3(6x-5)=—10x+35-18x+15=-28x+50
—3(6x—2)—5(4x—-3)=-18x+6—-20x+15=-38x+21

203 +7x=3)+4Qx* —=5x+4)=6x" +14x—6+8x* —20x+ 16 =14x* —6x+10
5(4x°+6x—=5)+32x> = 7x—1)=20x> +30x— 25+ 6x> —21x—3=26x" +9x — 28
7(4x> =3x—T7)+503x" —9x—8)=28x" —21x— 49 +15x* — 45x — 40 = 43x* — 66x — 89
4(3x* —x+5)=5(4x* —6x+7)=12x" —4x+20-20x" + 30x — 35 = —8x* +26x—15
52x° —6x+3)—4(3x* —=5x—2)=10x" —30x +15—12x" + 20x + 8 = 2x”> —10x + 23
3(—6x> = Tx+1)—42x* —8x+3)=—18x" —21x+3-8x" +32x—12=-26x" +11x—9
—5(x* =3x+5)+32x* = Tx+2)=-5x"+15x-25+6x" —=21x+6=x"—6x—19
—3(4x* =3x+2)+5Q2x> —x—-9)=—12x" +9x — 6+ 10x> = Sx—45=-2x" + 4x - 51

BRx*—x=7)—4(x*—6x+3)=—6x"+3x+21—4x> +24x—-12=-10x" +27x+9

S(AX+Tx+1D)=305x> +x—-6)=20x" —35x—5-15x = 3x+18 =5x* —38x+13



59.

3(x% +5xy+ y)+4(x* + Txy+y ) =3x> +15xy+ 3y" +4x> +28xy+ 4y> = 7x* + 43xy + 7y°

2(3x" = Sxy+y* )+ 3(4x> +2xy+7y°) = 6x° —10xy + 2y +12x° + 6xy + 21y* =

60.

61.

62.

63.
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65.
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68.

69

70.

71.

72.

18x* — 4xy + 23y’
=5(5mn+ Tmp)—4(9mn —8mp) =—-25mn—35mp — 36mn + 32mp = —61mn — 3mp
8(Bab—6¢cd)—TQ2ab—6c¢cd)=24ab—48cd —14ab+ 42cd =10ab — 6¢d
—8R2ab—"Tmn)+ 4(5mn—4ab)=—16ab + 56mn + 20mn —16ab = -32ab + 7T6mn

—6(2abc —4ef )+ 9(4abc + Sef ) = —12abc + 24 ef + 36abc + 45¢ef = 24abc + 69ef

2(x° +5x* =7x)+6(3x° + x* = 5x)=-2x" —10x* +14x +18x° + 6x> —30x =
16x° —4x* —16x

BR2x*+4x-7)=2(5x> +6x+3)=—6x"—12x+21-10x> —=12x — 6 = —6x" —10x* —24x+15

—43x* —6x* +4x)—2(4x* —9x* +8x)=—12x" +24x* —16x—8x* +18x* —16x =
—20x* +44x* = 32x

—302x° +4x = 5x)=23x" +2x° +2x)=—6x" —8x  +15x - 6x° —4x’ —4x =
—12x° —12x* +11x

3A4x-5)+22x-T7)—6(3x+4)=12x-12+4x-14-18x—-24 =-2x-50
208x+1)-4(x-4)+32x+3)=-10x-2-4x+16+6x+9=9x+23
6(3x+1)—42x-5)-3(7T-2x)=—18x+6—-8x+20—-21+6x=-20x+5

AP +x)=TBx+4)+52x* +1)=—4x* —4x-21x—-28+10x> +5=6x>—25x—-23

—=5(4y—6)+3(2y° —5)—4(3y* +2y) =20y + 24+ 6y> —15-12y> =8y =

73.

74.

—6y° —28y+9

203x° +6x7) = 5Q2x* + x) + 4(4x7 +5x7) = 6x7 +12x* —10x% = 5x° +16x° + 20x* =
17x% + 227



